
  

 

 

M.Com. DEGREE EXAMINATION –   
JUNE, 2018. 

First Year 

BUSINESS ADMINISTRATION 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What is Planning? State the importance of 
Planning. 

 vmhªhÀ GßÓõÀ GßÚ? vmhªh¼ß 

•UQ¯zxÁzøu SÔ¨¤kP. 

2. What is Span of Control?  

 Pmk¨£õmk Ãaö\Àø» GßÓõÀ GßÚ?  

3. What is Business Ethics? What are the factors 
influencing Business Ethics? 

 öuõÈÀ {¯v GßÓõÀ GßÚ? öuõÈÀ {¯vø¯ 

uõUP® ö\´²® PõμoPÒ ¯õøÁ? 
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4. Define Co-ordination. What are the techniques of 
Effective Co-ordination?  

 J¸[QønzuÀ Áøμ¯Ö. ]Ó¢u J¸[Qønzu¾UPõÚ 

~m£[PÒ ¯õøÁ? 

5. What are the characteristics of a good 
communication? 

 ]Ó¢u uPÁÀ öuõhº¤ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

SECTION B — (4  15 = 60 marks)  

             Answer any FOUR questions. 

6. What is MBO? Discuss the steps that need to be 
taken to ensure effective implementation of MBO. 

 MBO GßÓõÀ GßÚ? MBO øÁ vÓ®£h ö\¯À£kzu 

GkUP ÷Ási¯ £i•øÓPøÍ ÂÍUSP. 

7. Discuss the advantages and disadvantages of 
Departmentation.  

 xøÓPÒ Aø©zu¼ß |ßø©PøÍ²®, SøÓ£õkPøÍ²® 

ÂÍUSP. 

8. Elucidate the importance of Motivation.  

 FUSÂzu¼ß •UQ¯zxÁzøu ÂÍUSP. 

9. Critically examine the social responsibilities of 
Business. 

 ÁoPzvÀ \‰P¨ ö£õÖ¨¦PÒ £ØÔ vÓÚõ´Ä ö\´P. 
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10. Discuss the various types of Communication. 

 uPÁÀ öuõhº¤ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

11. Describe the major steps involved in planning 
process.  

 vmhªh¼À EÒÍ ¤μuõÚ £i•øÓPÎß 

ö\¯À£õkPÒ SÔzx GÊxP. 

12. Explain the effective Control Techniques in 
Management. 

 ÷©»õsø©°À vÓ¢u Pmk¨£õmk ~m£[PÒ SÔzx 

ÂÍUQ GÊxP. 

––––––––––––– 



  

 

 

M.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

First Year 

MANAGEMENT AND COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Explain the limitations of ratio analysis. 

 ÂQu B´Âß SøÓ£õkPøÍ ÂÍUSP. 

2. Define marginal costing and state its advantages. 

 CÖv {ø» AhUPÂø» & Áøμ¯Ö. Cuß 

|ßø©PøÍ SÔ¨¤kP. 

3. From the following information calculate 

 (a) Current assets 

 (b) Current liabilities 

 (c) Inventory 

  (i) Current ratio = 2.8 

  (ii) Liquid ratio = 1.5 

  (iii) Working capital = Rs. 90,000. 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x PnUQkP : 

 (A) |h¨¦ ö\õzxUPÒ 

 (B) |h¨¦ ö£õÖ¨¦PÒ 

 (C) \μUQ¸¨¦ 

  (i) |h¨¦ ÂQu® = 2.8 

  (ii) }º© ÂQu® = 1.5 

  (iii) |øh•øÓ•uÀ = ¹. 90,000. 

4. Prepare production budget from the following : 
Product Opening 

stock 
(units) 

Closing 
stock 

(units) 

Estimated sales 
(units)  

X 5,000 6,000 2,44,000 

Y 10,000 22,500 1,87,500 

Z 25,000 12,500 3,00,000 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x EØ£zv ÁμÄ ö\»Ä 

vmhzøu u¯õº ö\´P : 

ö£õ¸Ò öuõhUP 

\μUQ¸¨¦ 

(A»QÀ) 

CÖv 

\μUQ¸¨¦ 

(A»QÀ) 

Gvº£õºUP¨£kQßÓ 

ÂØ£øÚ (A»QÀ) 

X 5,000 6,000 2,44,000 

Y 10,000 22,500 1,87,500 

Z 25,000 12,500 3,00,000 
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5. Calculate Break-Even point (in Rs.) 

 Sales – Rs. 6,00,000 

 Fixed expenses – Rs. 1,50,000 

 Variable cost : 

 Direct material – Rs. 2,00,000 

 Direct labour – Rs. 1,20,000 

 Other variable expenses – Rs. 80,000.   

 \›\©¦ÒÎø¯ PnUQkP (¹£õ°À) 

 ÂØ£øÚ – ¹. 6,00,000 

 {ø»¯õÚ ö\»ÄPÒ – ¹. 1,50,000 

 ©õÖ£k® ö\»ÄPÒ : 

 ÷|μi ‰»¨ö£õ¸Ò – ¹. 2,00,000 

 ÷|μi öuõÈ»õÍº – ¹. 1,20,000 

 Cuμ ©õÖ£k® ö\»ÄPÒ – ¹. 80,000. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Differentiate between funds flow statement and 
cash flow statement. 

 {v Jmh AÔUøPUS®, öμõUP Jmh AÔUøPUS® 

EÒÍ ÷ÁÖ£õkPøÍ TÖP. 
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7. The budgeted expenses for the production of 
10,000 units in a factory are furnished below: 

 Per unit (Rs.)
Materials 70 
Labour 25 
Variable overheads 20 
Fixed overheads (1,00,000) 10 
Direct variable overhead 5 
Selling expense (15% fixed) 13 
Distribution expenses (20% fixed) 7 
Administration expenses  
(Rs. 50,000) 

5 

Total cost 155 

 Prepare a budget for the production of 8,000 units. 

 J¸ öuõÈØ\õø»°À 10,000 A»SPÒ EØ£zvUPõÚ 

ö\»ÂÚ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ. AøÁ 

¯õÁÚ? 

 Kº A»QØS 

(¹.) 

‰»¨ö£õ¸Ò 70 

öuõÈ»õÍºPÒ 25 

©õÖ£k® ÷©Øö\»ÄPÒ 20 

{ø»¯õÚ ÷©Øö\»ÄPÒ (1,00,000) 10 

÷|μi ©õÖ£k® ÷©Øö\»ÄPÒ 5 

ÂØ£øÚ ö\»ÄPÒ (15% 

{ø»¯õÚx) 

13 
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£QºÄ ö\»ÄPÒ (20% {ø»¯õÚx) 7 

{ºÁõP ö\»ÄPÒ (¹. 50,000) 5 

ö©õzu AhUP® 155 

 8,000 A»SPÒ EØ£zvUPõÚ ÁμÄ ö\»Ä vmh® 

u¯õ›UP. 

8. From the following information relating to M Ltd, 
you are required to find out 

 (a) PV Ratio 
 (b) BEP 
 (c) Profit 
 (d) Margin of safety 
 (e) Volume of sales to earn profit of Rs. 6,000. 

 Total fixed costs Rs. 4,500; Total sales Rs. 15,000. 

 Total variable costs Rs. 7,500. 

 M ¼ªöhm&iß uPÁÀPÎ¼¸¢x ¤ßÁ¸ÁÚÁØøÓ 

Psk¤i. 

 (A) »õ£ AÍÄ ÂQu® 

 (B) \›\© ¦ÒÎ 

 (C) C»õ£® 

 (D) £õxPõ¨¦ GÀø» 

 (E) ¹. 6,000 »õ£® DmkÁuØPõÚ ÂØ£øÚ AÍÄ 

 ö©õzu {ø»¯õÚ ö\»Ä ¹. 4,500; ö©õzu ÂØ£øÚ 

¹. 15,000 ö©õzu ©õÖ£k® ö\»Ä ¹. 7,500. 
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9. From the data given, compute material (a) cost  
(b) price (c) usage variances. 

 Standard : 

 Material for 80 kg of finished product – 100 kg to 
be used; standard price per kg – Re. 0.80. 

 Actuals : 

 Finished goods produced – 1,65,000 kg 

 Materials used – 2,00,000 kg 

 Actual cost – Rs. 1,70,000. 

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x, PnUQkP: ‰»¨ö£õ¸Ò  

 (A) AhUP® 

 (B) Âø» 

 (C) £¯ß£õmk ©õÖ£õkPÒ. 

 {ø»¯õÚx : 

 80 Q÷»õQμõ® •iÄØÓ ö£õ¸ÐUPõÚ ‰»¨ö£õ¸Ò 

– 100 Q÷»õQμõ® £¯ß£kzu¨£mi¸UQÓx; 

{ø»¯õÚ ö\»Ä Q÷»õ JßÔØS – ¹. 0.80. 

 EÒÍ¨£i÷¯¯õÚ {ø» : 

 •iÄØÓ ö£õ¸mPÒ EØ£zv ö\´¯¨£mhx – 

1,65,000 Q.Q 

 ‰»¨ö£õ¸Ò E£÷¯õP® – 2,00,000 Q.Q 

 EÒÍ¨£i¯õÚ AhUP® – ¹. 1,70,000. 
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10. Draw up a flexible budget for production at 75% 
and 100% capacity on the basis of the following 
data for a 50% activity. 

 Per unit 
(Rs.) 

Materials 100 

Labour 50 

Variable expenses (direct) 10 

Administration expenses (50% fixed) 40,000 

Selling and Distribution expenses  
(60% fixed) 

50,000 

Present production (50% activity) 1,000 units

 75% ©ØÖ® 100% EØ£zvz vÓøÚ Ai¨£øh¯õPU 

öPõsk 50% ö\¯ÀvÓÛÀ ö|QÌa] ÁμÄ&ö\»Ä 

vmhzvøÚ u¯õº ö\´P. 

 (A»S 

JßÔØS) ¹.

‰»¨ö£õ¸Ò 100 

öuõÈ»õÍº 50 

©õÖ£k® ö\»ÄPÒ (÷|μi) 10 

{ºÁõP ö\»ÄPÒ (50% {ø»¯õÚx) 40,000 

ÂØ£øÚ ©ØÖ® £QºÄ ö\»ÄPÒ  

(60% {ø»¯õÚx) 

50,000 

uØ÷£õøu¯ EØ£zv (50% 

ö\¯ÀvÓß) 

1,000 A»SPÒ
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11. Calculate funds from operations from the 
following: 

Profit and loss account 
Particulars Rs. Particulars Rs. 

To Rent 10,000  By Gross 
profit 

9,86,000

To Salary 25,000  

To Depreciation on 
furniture 

3,000  

To Discount on 
issue of shares 

10,000  

To Goodwill written 
off 

5,000  

To Preliminary 
expenses 

6,000  

To Net Profit 9,27,000  

 9,86,000  9,86,000

 C¯UP {vø¯ PnUQkP : 

C»õ£ |mh P/S 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÁõhøP 10,000 ö©õzu 

»õ£® 

9,86,000

\®£Í® 25,000  

AøÓP»ß «uõÚ 

÷u´©õÚ® 

3,000  
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£[S öÁÎ±miÀ 

uÒÐ£i 

10,000  

|Øö£¯º ÷©ö»Êv¯x 5,000  

öuõhUP ö\»ÂÚ[PÒ 6,000  

{Pμ »õ£® 9,27,000  

 9,86,000  9,86,000

12. From the following balances, you are required to 

calculate cash from operations : 

 31.12.89

Rs. 

31.12.90

Rs. 

P & L A/c balance 50,000 3,10,000

Debtors 90,000 84,000

Creditors 40,000 52,000

Bills Receivable  24,000 30,000

Prepaid expenses 3,200 2,800

Bills payable 30,000 32,000

Outstanding expenses 2,400 3,200

Outstanding income 1,600 1,800

Income received in advance 500 600
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 ¤ßÁ¸® C¸¨¦PÎ¼¸¢x öμõUP C¯UP 

ö\¯À£õmøh PnUQkP. 

 31.12.89

¹. 

31.12.90

¹. 

»õ£ |mh P/S C¸¨¦ 50,000 3,10,000

PhÚõÎPÒ 90,000 84,000

PhÜ¢÷uõº 40,000 52,000

ö£ÖÁuØS›¯ ©õØÖa^mk 24,000 30,000

•ßTmi÷¯ ö\¾zv¯ ö\»ÄPÒ 3,200 2,800

ö\¾zxÁuØS›¯ ©õØÖa^mk 30,000 32,000

öPõk£h ÷Ási¯ ö\»ÂÚ[PÒ 2,400 3,200

{¾øÁ°À EÒÍ Á¸Áõ´ 1,600 1,800

•ß Tmi÷¯ Dmi¯ Á¸©õÚ® 500 600

––––––––––––––– 



 

  

 

 

M.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

First Year 

ADVANCED FINANCIAL ACCOUNTING  

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What is an Accounting concept? 

 PnUQ¯À ö£õxU P¸zxUPÒ GßÓõÀ GßÚ? 

2. What is Human Resource Accounting? 

 ©ÛuÁÍ PnUQ¯À GßÓõÀ GßÚ? 

3. A and B are partners sharing profits in the ratio of 
3:2 C is admitted for 1/5th share which be acquires 
equally from both A and B. Find out new ratio. 

 A²® B²® u[PÎÀ C»õ£ £[SPøÍ 3:2 GßÓ 

ÃuzvÀ £[QmkU öPõÒQßÓÚº. CvÀ C Gß£Áº 

1/5 ÃuzvÀ AÝ©vUP¨£kQÓõº. A²® B²® 

\©¨£[S ÃuzvÀ C UPõP J¨£øhUQßÓÚº. ¦v¯ 

Ãuzøu PnUQkP.    
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4. ABC Company Limited went to liquidation with 
the following liabilities. 

(a) Secured creditors Rs. 20,000 (securities 
realised Rs. 25,000) 

 (b) Preferential Creditors Rs. 600 
 (c) Unsecured creditors Rs. 3,05,000 

  The liquidation of entitied to a remuneration 
of 3% on the amounts realised (including 
securities in the hands of secured creditors) 
and 1 2

1 % on the amount distributed to 
unsecured creditors. The various assets 
(excluding secured assets) realised  
Rs. 36,000. Prepare liquidators account. 

 ABC GßÓ Áøμ¯Özu {Ö©® R÷Ç²ÒÍ 

ö£õÖ¨¦PÐhß Pø»UP¨£kQÓx.  

 (A) ¤øn¯•ÒÍ PhÜ¢÷uõºPÒ ¹. 20,000 

(¤øn¯[PÒ wºÄ ö\´ux ¹. 25,000) 

 (B) •ßÝ›ø© PhÜ¢÷uõºPÒ ¹. 600 

 (C) ¤øn¯©ØÓ PhÜ¢÷uõºPÒ ¹. 3,05,000. 

  Pø»¨£õÍº 3% Fv¯® ö£Ó ö\õzxUPÒ 

ÂØÖU QøhUS® öuõøP°À 

E›ø©²ÒÍÁμõÁº. (¤øn¯•ÒÍ 

PhÜ¢÷uõ›ß øP°¾ÒÍ ¤øn¯[PÒ EÒ£h) 

÷©¾® 1 2
1 % Fv¯zøu ¤øn¯©ØÓ 

PhÜ¢÷uõ¸US ö\¾zx® ö£õÊx 

E›ø©²øh¯Áº BÁõº. £ÀÁøP¯õÚ 

ö\õzxUPÒ uÂμ (¤øn¯ •ÒÍ ö\õzxUPÒ 

uÂμ) wºÄ ö\´x Qøhzu öuõøP ¹. 3,600. 

CuØPõÚ Pø»¨£õÍº PnUS AÔUøPø¯ 

u¯õ›UP.  
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5. Calculate the amount of Goodwill at 3 year’s 
purchase of last five years average profits. The 
profits were Ist year Rs. 9,600, IInd year Rs. 14,400, 
IIIrd year Rs. 20,000, IVth year Rs. 6,000, Vth year 
Rs. 10,000. 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x |ß©v¨ø£U PnUQkP. 

Ph¢u I¢x Bsiß \μõ\› »õ£zvÀ ‰ßÖ Bsk 

öPõÒ•uÀ Ai¨£øh°À |ß©v¨ø£ PnUQkP. 

»õ£® •øÓ÷¯ •uÀ Bsk ¹. 9,600 Cμshõ® 

Bsk ¹. 14,400, ‰ßÓõ® Bsk ¹. 20,000, 

|õßPõ® Bsk ¹. 6,000, I¢uõ® Bsk ¹. 10,000. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What is final account, state the procedure for the 
preparation of find account. Bring out the format 
of Trading Account. 

 CÖv PnUS GßÓõÀ GßÚ? Auß u¯õ›¨¦ 

|øh•øÓPÒ ¯õøÁ? ©ØÖ® Â¯õ£õμU PnUS 

JßÔß ©õv› £iÁzøu u¯õ›UPÄ®.  

7. Explain the different methods of Inflation 
Accounting. 

 £nÃUP PnUøP PnUQk® £À÷ÁÖ •øÓPøÍ 

ÂÍUSP. 
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8. Following is the Balance Sheet of A, S and P who 
share profits and losses in the ratio 2 : 2 : 1. 

Liabilities Rs. Assets Rs. 

Sundry creditors 30,000 Cash in hand 4,000

A’s Capital 30,000 Sundry debtors 44,000

B’s Capital 24,000 Stock 40,000

C’s Capital 4,000  

 88,000  88,000

 The firm was dissolved. The assets were realised 
for Rs. 68,000. Creditors were paid in full. Show 
realistaiton a/c, partners capital a/c and cash a/c. 

 2:2:1 GßÓ ÂQuzvÀ C»õ£[PøÍ²®, 

|mh[PøÍ²® £Qº¢x öPõÒQßÓ A, S ©ØÖ® P 
BQ÷¯õ¸øh¯ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõºPÒ 30,000 øP°¸¨¦ öμõUP® 4,000

A’ß •u½k 30,000 £Ø£» PhÚõÎPÒ 44,000

B’ß •u½k 24,000 \μUQ¸¨¦ 40,000

C’ ß •u½k 4,000  

 88,000  88,000
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 Tmhõsø© {ÖÁ® Pø»UP¨£mhx. ö\õzxUPÒ  

¹. 68,000US ÂØP¨£mhÚ. PhÜ¢÷uõºPÐUS 

•Êø©¯õÚ ö\¾zu¨£mk Âmhx. wºÄU PnUS 

TmhõÎPÎß •uÀ PnUS ©ØÖ® öμõUPU PnUS 

BQ¯ÁØøÓz u¯õº ö\´P.  

9. The following are the balance sheets as on  
31-12-96 of X Co. Ltd and  Co. Ltd. 
Liabilities X Ltd.  

Rs. 
 Y Ltd. 

Rs. 
 Assets X Ltd. 

Rs. 
Y Ltd.

Rs. 

Equity share     Land and 

  capital (Rs. 100       Buildings 30,000 -

  per share) 1,00,000  60,000  Plant and 

6% debentures       Machinery 1,10,000 50,000

  of Rs. 10 each 20,000  -  Stock 16,000 8,000

Reserve fund 34,000  -  Debtors 14,000 7,000

Dividend      Cash 3,000 3,000

  equalisation       

  fund 4,000     

Employers      

 provident fund 3,000     

Trade creditors 10,000  8,000   

Profit and loss a/c 2,000  -   

 1,73,000  68,000   1,73,000 68,000

 The two companies agree to amalgamate and from 
a new company called Z Ltd., which takes over the 
assets and liabilities of both the companies. The 
authorised capital of Z Ltd. Rs. 10,00,000 
consisting of 1,00,000 equity shares of Rs. 10 each. 
Give journal entries and the opening balance sheet 
of Z Ltd. 
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 X {Ö©® ©ØÖ® Y {Ö©® BQ¯øÁPÎß C¸¨¦ 

{ø»U SÔ¨¦PÒ 31.12.96À EÒÍ£i 

öPõkUP¨£mkÒÍÚ.  

ö£õÖ¨¦PÒ X ¼m. ¹.  Y ¼m. ¹.  Assets X ¼m. ¹. Y ¼m. ¹.

\õuõμn £[S     {»•® 

 •uÀ ¹. 100 Ãu®       Pmih•® 30,000 -

 6% Phß £zvμ® 1,00,000  60,000  ö£õÔ²®, 

¹. 10 Ãu®     C¯¢vμ•® 1,10,000 50,000

ö£õxUPõ¨¦ 20,000  -  \μUQ¸¨¦ 16,000 8,000

»õ£ DøÁ 34,000  -  PhÚõÎPÒ 14,000 7,000

\©©õUP EÒÍ     öμõUP® 3,000 3,000

 {v 4,000     

öuõÈ»õÎPÎß       

÷\©|» {v 3,000     

Â¯õ£õμ PhÜ¢÷uõº 10,000  8,000   

»õ£/|mh P/S 2,000  -   

 1,73,000  68,000   1,73,000 68,000

 C¸ {ÖÁÚ•® Cøn¯ JzxU öPõsk, J¸ ¦v¯ 

{ÖÁÚ® Z ¼m. Bμ®¤UP¨£mk, Cμsk {Ö©zvß 

ö\õzxUPÒ ö£õÖ¨¦PøÍ Ax GkzxU 

öPõÒQßÓÚx.  

Z ¼miß AvPõμ§ºÁ ‰»uÚ® 1,00,000, \õuõμn 

£[SPÒ ¹. 10 Ãu®, ¹. 1,00,000 BS®. Z ¼m. 

HmiÀ Bμ®£ SÔ¨¦PÒ GÊv •uÀ C¸¨¦{ø»U 

SÔ¨¦ u¯õº ö\´¯Ä®.  
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10. From the following particulars you are required to 

prepare Fire Revenue Account, for the year ending 

31st December 1993 : 

 Rs. 

Claims paid 4,80,000

Claims outstanding on 1.1.93 40,000

Claims intimated but not accepted on 31.12.93 10,000

Claims intimated and accepted but not paid on 31.12.93 60,000

Premium received 12,00,000

Reinsurance premium 1,20,000

Commission 2,00,000

Commission on re-insurance ceded 10,000

Commission on re-insurance accepted 5,000

Expense management 3,05,000

Provision for unexpired risk on 1.1.93 4,00,000

Additional provision for unexpired risk 20,000

Bonus in reduction of premium 12,000

 You are required to provide for additional reserve 

for unexpected risks at 1% the net premium in 

addition to the opening balance.  
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 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x i\®£º 31, 

1993 Ehß •i²® BsiØPõÚ w Á¸Áõ´ PnUøP 

u¯õ›UP.  

 ¹. 

E›ø©U ÷Põ›UøPPÒ ö\¾zu¨£mhx 4,80,000

E›ø©U ÷Põ›UøP {¾øÁ (1.1.93) 40,000

öu›ÂUP¨£mh BÚõÀ HØÖU öPõÒÍ¨£hõu 

E›ø©U ÷Põ›UøPPÒ (31.12.93) 10,000

öu›ÂUP¨£mh, HØÖU öPõÒÍ¨£mh BÚõÀ 

ÁÇ[P¨£hõu E›ø©U ÷Põ›UøPPÒ (31.12.93) 60,000

Põ¨¥k Pmhn® ö£ØÓx 12,00,000

©ÖPõ¨¥k Pmhn® 1,20,000

uμS 2,00,000

ö£Ó¨£mh ©ÖPõ¨¥k uμS 10,000

HØÖU öPõÒÍ¨£mh ©ÖPõ¨¥k uμS 5,000

÷©»õsø©a ö\»ÄPÒ 3,05,000

•vºÄ ö£Óõu Chº£õk JxURk (1.1.93) 4,00,000

•vºÄ ö£Óõu TkuÀ Chº£õk JxURk 20,000

PmhnU SøÓ¨¤ß «uõÚ ÷©¿v¯® 12,000

 •vºÄ ö£Óõu TkuÀ Chº£õk JxURkUS {Pμ 

Põ¨¥k PmhnzvÀ 1 \uÂQu® Bμ®£ C¸¨¦ 

öuõøP²hß JxUSP.   
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11. Mr. Subramanian commenced business on April 1, 
2010 with a capital of Rs. 2,00,000. He 
immediately bought furniture for Rs. 40,000. On 
30th September 2010 he borrowed Rs. 1,00,000 
from his wife at 9% per annum (interest not yet 
paid) and introduced a further capital of his own 
amounting to Rs. 30,000. He drew at the rate of 
Rs. 6,000 per month at the end of each month for 
household expenses. On 31st March 2011, his 
position was as follows. 

 Cash on hand Rs. 4,000, Cash at bank Rs. 52,000. 
Sundry debtors Rs. 96,000, Stock Rs. 1,36,000, 
Bills receivable Rs. 32,000. Sundry creditors  
Rs. 10,000 and owing for rent Rs. 3000. Furniture 
is to be depreciated by 10%. 

 Ascertain the profit (or) loss for the year ended  
31-3-2011. 

 2010, H¨μÀ 1&À _¨μ©o¯® Gß£Áº ¹. 2,00,000 

•u½k ö\´x Â¯õ£õμzøu öuõh[QÚõº. AÁº 

EhÚi¯õP ¹. 40,000 AøÓP»ß Áõ[QÚõº. 2010, 

ö\¨h®£º 30&À AÁº uß ©øÚÂ°hª¸¢x  

¹. 1,00,000 Phß Áõ[QÚõº. PhÝUS BskUS 9% 

Ámi Esk. (Ámi CßÝ® öPõkUP¨£hÂÀø»). 

TkuÀ •uÀ ¹. 30,000 ÷©¾® •u½k ö\´uõº. 

JÆöÁõ¸ ©õuU Pøh]°¾® uß ö\õ¢u ö\»ÄUPõP 

¹. 6,000 GkzxP öPõshõº. 31.3.2011 AÁ›ß 

{ø»ø© RÌÁ¸©õÖ : 
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 öμõUP øP°¸¨¦ ¹. 4,000, Á[Q°¸¨¦ öμõUP®  

¹. 52,000, £Ø£» PhÚõÎPÒ ¹. 96,000, \μUQ¸¨¦ 

1,36,000, ö£ÖuØS›¯ ©õØÖ\^mk ¹. 32,000, £Ø£» 

PhÜ¢÷uõº ¹. 10,000, öPõk£h ÷Ási¯ ÁõhøP  

¹. 3,000, AøÓP»ß «x 10% ÷u´©õÚ® PnUQkP. 

31.3.2011À C»õ£ |mhzøuU PnUQkP.  

12. The following are the Balance Sheets of H Ltd. 
and S Ltd. as on 31.12.1994. 

Liabilities H Ltd.  
Rs. 

 S Ltd.  
Rs. 

 Assets H Ltd. 
Rs. 

S Ltd. 
Rs. 

Share capital -      Goodwill 30,000 20,000

 shares of  6,00,000  2,50,000  Fixed assets 5,80,000 2,00,000

 Rs. 10 each     Stock 1,60,000 80,000

General reserve 1,60,000  95,000  Investment in 

Profit for       15,000 shares

 the year 2,20,000  1,20,000    of S Ltd. 2,00,000 -

Bills payable 20,000  -  Bills receivable - 15,000

Sundry creditors 1,00,000  35,000  Sundry debtors 80,000 1,15,000

     Cash in hand 50,000 70,000

 11,00,000  5,00,000   11,00,000 5,00,000

 (a) H Limited acquired the shares of S Limited 
on 1-9-1994. 

 (b) Bills payable of H Limited a was wholly in 
favour of S Limited.  
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 (c) Debtors of S Limited include Rs. 15,000 
owned by H Limited. 

 (d) Stock of H Limited a includes Rs. 10,000 
worth of goods bought from S Limited on 
which the latter company has made a profit 
of 25% on cost 

  Prepare a Consolidated Balance Sheet. 

 RÌUPshøÁ 31.12.1994 |õøÍ¯ H ¼ªöhm ©ØÖ®  
S ¼ªöhm {Ö©[PÎß C¸¨¦ {ø» SÔ¨¦PÍõS®.  

ö£õÖ¨¦PÒ H ¼m  

¹. 
 S ¼m  

¹. 
 ö\õzxUPÒ H ¼m 

¹. 
S ¼m 

¹. 

£[S •uÀ JßÖ  |Øö£¯º 30,000 20,000

 ¹. 10 Ãu® 6,00,0002,50,000 {ø»¯õÚ  

ö£õxPõ¨¦ 1,60,000 95,000   ö\õzxUPÒ 5,80,0002,00,000

CÆÁõskUPõÚ  \μUQ¸¨¦ 1,60,000 80,000

  C»õ£® 2,20,0001,20,000 S ¼ªöhm  

ö\¾zxuØS›¯    15,000£[S  

  ©õØÖa ^mk 20,000 -  «x •u½k 2,00,000 -

£Ø£» PhÜ¢÷uõº 1,00,000 35,000 ö£ÖÁuØS›¯ 

    ©õØÖa ^mk - 15,000

  £Ø£» PhÚõÎPÒ 80,0001,15,000

  øP°¸¨¦  

    öμõUP® 50,000 70,000

 11,00,0005,00,000  11,00,0005,00,000

 (A) H ¼ªöhm 1&9&94 AßÖ S ¼ªöhm 

£[SPøÍ Áõ[Q¯x.  

 (B) H ¼ªöhmiß ö\¾zuuØS›¯ ©õØÖ ^mkPÒ 

•ÊÁx® S ¼ªöhmkUS öPõkUP¨£mhøÁ. 
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 (C) S ¼ªöhmiß PhÚõÎPÒ H ¼ªöhm 

öPõkUP ÷Ási¯ ¹. 15,000 EÒÍhUQ¯x.  

 (D) H ¼ªöhmiß \μUQ¸¨¤À  

S ¼ªöhmihª¸¢x Áõ[P¨£mh ¹. 10,000 

\μUSPÒ EÒÍÚ. Aøu ÂØÓvÀ S ¼ªöhm 

AhUP Âø» 25% C»õ£® ö£ØÖÒÍx.  

  J¸[Qøn¨¦ C¸¨¦{ø»U SÔ¨¦ 

u¯õ›UPÄ®.  

——––––––––– 



  

 

 

M.Com. DEGREE EXAMINATION –   
JUNE, 2018. 

First Year  

MARKETING MANAGEMENT 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Define Marketing. 

 \¢øu°køP°øÚ Áøμ¯Ö. 

2. Define consumer behaviour. 

 ~Pº÷Áõº ö\¯¼øÚ Áøμ¯Ö. 

3. Define E-Marketing. 

 ªßÚq \¢øu°køPø¯ Áøμ¯Ö. 

4. What is Market testing? 

 \¢øu ÷\õuøÚ GßÓõÀ GßÚ? 

5. What are consumer goods? 

 ~Pº÷Áõº ö£õ¸mPÒ Gß£Ú ¯õøÁ? 

 PG–322 MCO–14
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SECTION B — (4  15 = 60 marks)  

             Answer any FOUR questions. 

6. Briefly explain the basic elements of market 
segmentation. 

 \¢øu¨ £S¨¤ß Ai¨£øhU TÖPøÍa _¸UP©õP 

ÂÍUSP. 

7. Explain the concept of product life cycle. 

 ö£õ¸Ò B²Ò _ÇØ] ö£õxU P¸zøu ÂÍUSP. 

8. What is customer satisfaction? Explain as to how 
it can be measured. 

 ÁõiUøP¯õÍº ©Ú {øÓÄ GßÓõÀ GßÚ? Ax 

GÆÁõÖ AÍÂh¨£h»õ® Gß£øu ÂÍUSP. 

9. “Marketing Information system has been called 
the life-blood of Marketing” comment on this 
statement. 

 “\¢øu°køP ö\´v •øÓ BÚx \¢øu°køP°ß 

μzu Kmh® GÚ¨£kQßÓx”. CUTØÔß «uõÚ EÚx 

P¸zx ¯õx? 

10. “Advertising sells product” Do you agree with this 
statement? Give reasons for your answer and 
explain the function performed by advertising. 

 “ÂÍ®£μ® ö£õ¸mPøÍ ÂØQßÓx” CUTØøÓ } 

Ehß£kQÓõ¯õ? EÚx £v¾UPõÚ PõμnPÒ 

AøÚzøu²® u¢x ÂÍ®£μ® BØÖ® £oPøÍ 

ÂÍUSP. 
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11. Briefly describe the various levels of channels. 

 £À÷ÁÖ ÁÇ[PÀ {ø»PøÍ²® _¸UP©õP ÂÁ›. 

12. “The middlemen can be eliminated but his 
functions cannot”. Discuss. 

 “Cøh{ø»z |£ºPÒ uÂºUP¨£h»õ®. BÚõÀ 

AÁºPÍx £oPÒ uÂºUP¨£h •i¯õx”. ÂÁõv. 

––––––––––––– 



  

 

 

M.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

First Year 

ADVANCED BUSINESS STATISTICS  

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

1. What are the limitations of statistics? 

 ¦ÒÎ°¯¼ß SøÓ£õkPÒ ¯õøÁ? 

2. Calculate mean deviation from the following data: 

X : 10 11 12 13 14 

Y : 3 12 18 12 3 

 RÌPsh ÂÁμ[PÎ¼¸¢x \μõ\› Â»UPzvøÚ 

PnUQkP : 

X : 10 11 12 13 14 

Y : 3 12 18 12 3 
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3. One bag contains 4 white and 2 black balls. 

Another contains 3 white and 5 black balls. If one 

ball is drawn from each bag, find the probability 

that  

 (a) both are white  

 (b) both are black and  

 (c) one is white and one is black. 

 J¸ ø£ 4 öÁÒøÍ ©ØÖ® 2 P¸¨¦ {Ó¨ £¢xPøÍU 

öPõskÒÍx. ©ØöÓõ¸ ø£ 3 öÁÒøÍ ©ØÖ®  

5 P¸¨¦ {Ó¨ £¢xPøÍU öPõskÒÍx. J¸ 

ø£°¼¸¢x J¸ £¢x GkUS® £m\zvÀ  

 (A) Cμsk÷© öÁÒøÍ {Ó® 

 (B) Cμsk÷© P¸¨¦ {Ó® 

 (C) JßÖ öÁÒøÍ ©ØöÓõ¸ £¢x P¸¨¦ GßÖ 

C¸UP GßÚ {PÌuPÄ? 

4. What are the merits of sampling? 

 TöÓk¨¤ß |ßø©PÒ ¯õøÁ? 
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5. From the adult male population of seven large 
cities random samples of married and unmarried 
men as given below were taken. Can it be said 
that there is a significant variation among the 
people of different cities in the tendency to marry? 

City A B C D E F G Total

Married 170 285 165 106 153 125 146 1,150

Unmarried 40 125 35 37 55 35 33 360 

Total 210 410 200 143 208 160 179 1,510

 (Table value of 2  at 5% level of significance for  

6 degrees of freedom is 12.59). 

 HÊ ö£›¯ |Pμ[PÎÀ Á¯x Á¢u BsPÎß ö©õzu 

öuõøP°¼¸¢x, v¸©n® ©ØÖ® v¸©n©õPõu 

BsPÎß ^μØÓ TöÓk¨¤ß ‰»® ö£Ó¨£mhx 

R÷Ç öPõkUP¨£mkÒÍÚ. £À÷ÁÖ |Pμ[PÎß 

©UPÎøh÷¯ H÷uÝ® SÔ¨¤hzuUP ©õØÓ® 

EÒÍÚÁõ GßÓ TÓ •i²©õ? 

|Pμ® A B C D E F G ö©õzu®

v¸©n©õÚÁº 170 285 165 106 153 125 146 1,150 

v¸©n©õPõuÁº 40 125 35 37 55 35 33 360 

ö©õzu® 210 410 200 143 208 160 179 1,510 

 (øP&ÁºUP ÷\õuøÚ°ß AmhÁøn ©v¨¦ 5%US  
6 _¯õwÚ ÁøÍÄPÒ 12.59). 
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

6. Discuss the various methods of collecting primary 
data. 

 •uÀ{ø» Â£μ[PøÍU ÷\P›US® £À÷ÁÖ 

•øÓPøÍ ÂÍUSP. 

7. Calculate the mean, median and mode for the data 
given below : 

Daily earnings (�) 50-53 53-56 56-59 59-62 62-65

No. of persons : 3 8 14 30 36 

Daily earnings (�) 65-68 68-71 71-74 74-77  

No. of persons : 28 16 10 5  

 RÌUPsh Â£μ[PÎ¼¸¢x \μõ\›, Cøh{ø» ©ØÖ® 

•Pk PnUQkP. 

vÚ\› \®£õzv¯® (¹.) 50-53 53-56 56-59 59-62 62-65

|£ºPÎß GsoUøP 3 8 14 30 36 

vÚ\› \®£õzv¯® (¹.) 65-68 68-71 71-74 74-77  

|£ºPÎß GsoUøP 28 16 10 5  
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8. A coin is tossed six times. What is the probability 
of obtaining (a) 4 heads, (b) 5 heads (c) 6 heads? 

 J¸ |õn¯zøu 6 •øÓPÒ _siÂh¨£mhx 

{PÌuPÄ PõsP : 

 (A) 4 uø»PÒ  (B)  5 uø»PÒ  (C) 6 uø»PÒ 

9. Determine the regression equation of a straight 
line which best fits the data : 

X : 10 12 13 16 17 20 25

Y : 10 22 24 27 29 33 37

 uμøÁ \›¯õP ö£õ¸¢xQßÓ J¸ ÷|º÷Põmiß 

¤ßÚøhÄ \©ß£õmøh wº©õÛUPÄ®. 

X : 10 12 13 16 17 20 25

Y : 10 22 24 27 29 33 37

10. The life time of electric bulbs for a random sample 
of 10 from a large consignment gave the following 
data : 

Item : 1 2 3 4 5 6 

Life in ‘ 000 hours : 4.2 4.6 3.9 4.1 5.2 3.8

Item : 7 8 9 10   

Life in ‘ 000 hours : 3.9 4.3 4.4 5.6   

 Can we accept the hypothesis that the average life 
time of bulbs is 4,000 hours? (Given 05.0t = 2.262 

for 9 degrees of freedom) 
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 J¸ ö£›¯ \μUQ¼¸¢x 10 ^μØÓ TöÓkzuÀ  

‰»® ö£Ó¨£mh ªß\õμ ÂÍUSPÎß ÁõÌ|õÒ 

ÂÁμ[PÒ : 

E¸¨£i : 1 2 3 4 5 6 

ÁõÌ|õÒ (B°μ® ©o ÷|μzvÀ) : 4.2 4.6 3.9 4.1 5.2 3.8

E¸¨£i : 7 8 9 10   

ÁõÌ|õÒ (B°μ® ©o ÷|μzvÀ) : 3.9 4.3 4.4 5.6   

 ÷©÷» öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x, ªß\õμ 

ÂÍUSPÎß \μõ\› B²mPõ»® 4,000 ©o÷|μ® 

GßÝ® AÝ©õÚzøu J¨¦ öPõÒÍ •i²©õ?  

( 05.0t = 2.262, d.f. = 9) 

11. Calculate the correlation coefficient between the 
height of father and son from the given data : 

Height of father (in inches) : 64 65 66 67 68 69 70

Height of son (in inches) : 66 67 65 68 70 68 72

 RÌUPsh ÂÁμ[PÎ¼¸¢x u¢øuUS ©PÝUS® 

EÒÍ E¯μzvØS Cøh÷¯¯õÚ JmkÓÄ öPÊøÁU 

PnUQkP. 

u¢øu°ß E¯μ® (A[S»zvÀ): 64 65 66 67 68 69 70
©PÛß E¯μ® (A[S»zvÀ): 66 67 65 68 70 68 72

12. Describe briefly main types of sampling methods. 

 TöÓkzu¼ß £À÷ÁÖ •øÓPøÍ¨ £ØÔ ÂÁ›UP. 

——————— 


